o ol data Ux=(A-550)/5( logarithmic [Vo, o, L ]data Up=(\— 550)/5
L =(Mo+ o2 log/10=-0,35u~u-]° L =(Vo* o)/2 log!16=-0,35x~u]>

log 0=-0,35[,-u ]2 log 0=-0,35lu,-u ]2

000, L l0gL o=—0,35[y~Us7q 2 log[Vo, oL ] logL o=-0,35[u,~Us7d 2

o 570 Adapt.: A\, =570 0 570 Adapt.: A, =570
. maximum =R maximum

1 O [o*n ° Jog(L m=-0,07 °0r L \ © log(L -m)=-0,07
LS L “m=0,84 - N L omoes

, Y thresholds thresholds
t,=0,03, $=0,00

t:=0,03, $=0,00

7(;0 A/nm
EE611-1N
Ur=(A\-550)/5( ithmi _ | data U)\:()\-550)/5
log\lo=—0,35[u)~U ]2 logMo=-0,35[u)~U-.]?
gt log 0=-0,35[,-u ]2 log ¢=-0,35u\—u
O 70vL 70—1_ o 0—1_ 70—1_ o 0—1_
570 Adapt.: A, =570 £ Adebt N =570
10T=== N imum fraximum
1 D 0 9" /%09l m)=-0,07 og(L m)=-0,07
‘\ L m=0,84 | L m=0,84
thresholds thresholds
05T / ta=0,03, 1,=0,00 t=0,03, $=0,00
400 500
lin:545, 570, 595 EE611-3N log:545, 570, 595 EE611-4N

n n Lin data Up=(A-550)/5( logarithmic [V, n, Lin] data Up=(A— 550)/5
L =(Vot o)f2=Mnt n  logho=-0,350\~u: ] L =(Vig+ o)f2=\in+ n  loghlo=-0,35ky~us:]?
Lin=L =Mt )2 log o=-0,35-u ]2 Lin=L .=(Vin+ )2 log 0=-0,35u)-u ]2

mn nLin n=2Mo;, n=2 o log[Mn, n, Linl n=2Vo; n=2 o
> 570 Adapt.: A\, =570 5 570 Adapt.: A, =570

maximum maximum

1 i " log(Lnm)=-0,07 1 log(L Inm)=-0,07
L Linm=1,69 Linm=1,69
N In_ °§ thresholds thresholds
1T 7 t,=0,03, $=0,00 0,03, =0,00

+ 4
4
g
0 .._3 = -1
t t
400 500
lin:545, 570, 595 EE611-5N

n _n L ndata Uy=(A—550)/5( logarithmic [M n, n, L ] data
L =(Vg*t o)f2=Vin+ n  logVo=-0,35ky-u..]* [ =(Vo+ o)/2=\int n  loglio=
L_in=2-Lin log 0=-0,35fy-u ]? L_in=2-Lin log o=

n nbln n=2-Mp; _n=2- n _nl in] _n=2—

0,35[u,-u
n=2-

n m

570 Adapt.: Ay =57( 570 Papt.: A =570
2T~ mum maximum
1 0 tog (L inm)=-0,07 log(Linm)=-0,07
L Inm=1,69 Inm=1,69
_In thresholds _ thresholds
T :=0,03, $=0,00 t2=0,03, $=0,00
N
013 -1 ~ 1 3 Uy,
400 500 700 A/nm

lin:545, 570, 595 EE611-7N lin:545, 570, 595 EE611-8N



